
17. Determine the magnitude of the resultant force in both x and y directions if 2

1 ~ (450,10 ) NF N and 

2

2 ~ (900,20 ) NF N . 

 

Solution 

We know 2

1 ~ (450,10 ) NF N  and 2

2 ~ (900,20 ) NF N . For x direction 

2 1
cos45 cos20 213.53 N

xF F F      

   
2 1

2 2

cos45 cos20 16.98 N
xF F F      

For y direction 

2 1
sin 45 sin 20 790.31 N

yF F F      

   
2 1

2 2

sin 45 sin 20 14.55 N
yF F F      

Therefore, 2~ (213.53,16.98 ) NxF N  and 
2~ (790.31,14.55 ) NyF N . 
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